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General Instructions::
1. All question are compulsory.
2. The question paper consists of 34 questions divided into four sections A,B,C and D. Section — A
comprises of 10 question of 1 mark each. Section — B comprises of 8 questions of 2 marks each. Section
— C comprises of 10 questions of 3 marks each and Section — D comprises of 6 questions of 4 marks
each.
3. Question numbers 1 to 10 in Section — A are multiple choice questions where you are to select one
correct option out of the given four.
4, There is no overal choice. However, internal choice has been provided in 1 question of two marks, 3
guestions of three marks each and 2 questions of four marks each. Y ou have to attempt only one If the
aternativesin all such questions.
5. Use of calculator is not permitted.
6. An additional 15 minutes time has been alotted to read this question paper only.
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CLASS - X CBSE MATHEMATICS
Section A
Q.1 Which of the following equations has two distinct real roots ?
(@) 2 —3y3xs 20 (b) X2 +4x-3y2=0(C) X2 —4x—3J2=0 (d)5x* —3x+1=0 Ans. b
4
Q.2 Sum of first nterms of aseriesis 5n” + 2n, then its second term is
@ 15 (b) 16 (c) 17 (d) none of these Ans.c
Q.3 The probability that a card drawn from a pack of 52 cards will be adiamond or akingis
2 4 1 1

a — by — C — d — Ans. B

@ 3 (b) 3 (© 3 (d) =

Q4 Two concentric circles are of radii 13cm and 5¢cm. The length of the chord of larger circle which

touches the smaller circleis
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(8 12cm (b) 20cm (c) 24cm (d) 26cmAns c

Q.5 The coordinates of the middle points of the sides of atriangle are (4, 2) ( 3, 3) and (2, 2), then the
coordinates of its centroid are

@ (3,713) (b)) (3, 3) (c) (4,3)(d) none of these (Ans. a)

Q.6 If for an A.P. T ;4T g= 24andT (+T ,,= 34, then first term =

1 3 1 3
@ 5 (b) 5 (©) 5 (d) 5 Ansc

Q.7 If oneroots of the equation px* —14x+8=0 issix times the other, then p is equal to
@ 2 () 3 (c) 1 (d) noneof these Ans. b
Q38 Find the angle of elevation of the top of atower 10043 m long, from a point at a distance of 100m

from the foot of the tower in ahorizonta plane.

(@) 45° (b) 30° (c) 60° (d) NONE Ans:c
The area of the shaded region in Fig. X
BPC are semicircles.
(8) 24cn (b) 42en? () 420cn? (d) none of these Ans b
Q.10 | TPand PQ are the two tangents to a circle with centre O, so that ~POQ =100°, then ~PTQ is equal
to (a) 60°(b) 70°(c) 80°(d) 90°Ansc
Section B

Q.11 | Asguareisinscribed inacircle. What is the ratio of the areas of the circle and the square. . { Ans. 7 : 2

B

Q.9

c ,if ABCD isasquare of side 14 cm and APD and

Q.12 | write the nature of roots of the quadratic equationV5¢—3/6x—/20=0 . Ans D = 94 ; Red , un
equal , irrationa

Q.13 | The perimeter of asector of acircleof radius5. 2 cmis 16.4 cm . Find the area of the sector. . Ans
Area=Ir/2=156sgcm

OR
The diameter of acircleis 84 cm. find the number of revolutions it will make in moving 792 meters. .
Ans:- 300
Q.14 |A jar contains 54 marbles each of which is blue , green or white . The probability of selecting a blue
marbles at random from the jar is1/ 3, and the probability of selecting a green marble at random is 4
/ 9. How many white marble does the jar contain ? Ans:- White marble = 12
Q.15 | The distance between A (x,7) and B (1,3) is5. calculate x. . Ansx =4 or — 2

Q.16 |The encircle of AABC touches the side AB , BC& CA a P,Q &R respectively. Show that
AP + BQ+CR:% (perimeter of AABC) .

Q.17 | Reo started work in 1995 at an annual salary of < 5000 and recived an increment of < 200 each year
. In which year did hisincome reach I 7000 . Ans:- 5000, 5200, , 5400, .....{ 5000 + (n - 1) 200 =
7000: n=11.intheyear 2005 hisannual salary will reachto Rs 7000 .

Q.18 | If the coordinates of the middle point of the line segment joining the point ( 2, 1)(1,-3) be («, 5) ,

provethat 6 + f—-8=0.

Section C

Q.19 Cards marked with the numbers 2 to 101 are placed in a box and mixed thoroughly. One card is
drawn from this box. Find the probability that the number on the card is
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a aneven number

b. anumber lessthan 14

c. anumber which is a perfect square

d. aprime number lessthan 20. Ans (i) ¥ (ii) 3/25 (iii) 9/100 (iv) 2/25

OR

Two customers SEAROSE and POOJA are visiting a particular shop in the same week ( Tuesday
to Saturday ). Each is equally likely to visit the shop on any day so on another day . What is the
probability that both will visit the shop on (i) same day ?(ii) consecutive days?( iii )different days ?
Ans (i) 1/5 (ii) 8/25 (iii) 4/5
Q.20 | PORSisadiameter of acircle of radius 6 cm. The lengths PQ, QR and RS are equal. Semi-circles are
drawn on PQ and QS as diameters. Find the perimeter and area of shaded region. (Use 7~ = 3.14)

Ans ( perimeter = 37 . 68 cm  Area = 37.68cm?)
Q.21 | Find the number of termsin the series 20, 191?, 18%, ...of which the sum is 300, explain the double

answer. Ansn=25,36. Explaination : Sum of 25 term is equal to sum of 36 term of an AP. Because
sum of last 11 term out of 36 term is zero.
Q.22 | There are two poles, one each on either bank of ariver. just opposite to each other. One pole is 60m
high. From the top of this pole, the angles of depression of the top and the foot of the other pole
are30°and60° respectively. Find the width of the river and the height of the other pole. Ans:- height
of other pole = 40 m & width of river = 203 =34.64
Q.23 | Therain water from a roof 22m x 20 m drains into a cylindrical vessel having diameter of base 2m
and height 3.5 m . If the vessdl isjust full, find the rainfall in cm. 2.5cm

OR

Water flows at the rate of 10 m per minute through a cylindrical pipe having its diameter as
5mm.How much time will it take to fill a conical vessal whose diameter of base is 40cm and depth
24cm ? Ans:- Time = 512/10 minutes or 51 minutes 12 second

Q.24 | Find theratio in which the point (- 3, p) divides the line segment joining the points (-5,-4 )& (-2 ,- 3)
. Hence find the value of p. Ansp =-10/3

Q.25 | Provethat, the opposite sides of a quadrilateral circumscribing a circle subtend supplementary angles
at the center of thecircle.

Q.26 | Draw acircle of 3.4 cm radius. Take a point P out side the circle. Draw two tangents to the circle
from the point P without using the center .

Q.27 | A hemispherical bowl of internal diameter 36 cm contains a liquid. This liquid is to be filled in
cylindrical bottles of radius 3 cm and height 6 cm. How many bottles are required to empty the bowl?
Ans 72 bottles

Q.28 | If thepointsA(1,-2), B(2,3), C (a2) and D(-4,-3) from a parallelogram, find the value of a and height
of the parallelogram taking AB asbase. Ansa=-3 Areaof //gm = 24sq.unit & Altitude to base AB

- J26xH=24—H _ =

V26
OR

The co-ordinates of the vertices of AABC are A (4,1),B (-3,2) and C ( 0, k).Given that the area of
ABCis 12unit®, find the value of k. Ansk = 5, -13/7
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Section D

Q.29 | The denominator of a fraction is 1 more than twice the numerator. The sum of the fraction and is

reciprocal is 2% Find thefraction . Ans x = 3 and fraction :573;L+2X—+1=21—6

x+1 X 25

OR

Some students planned a picnic. The budget for food was < 500. But 5of these failed to go and thus
the cost of food for each student increased by I 5. How many students attended the picnic . Ans
500 500

number of student attend the picinic = 20; T -5
X— X
Q.30 |The sum of the first, p, g, r teems of an A.P. area a Db, c respectively. Show
thet 2 (q 1)+ 20— p)+ S(p-a)=0-
p q r

Q.31 | A solid metdllic right circular cone 20 cm high and whose vertical angleis 60° is cut into two parts at
the middle point of its height by a plane parallél to the base. If the frustum, so obtained, be drawn into

awire of diameter % cm, find the length of the wire. Ans 7964.44

Q.32 | If PAB issecant and PT istangent to a circle then prove that PAx PB = PT?Z.

OR
The radii of two concentric circles are 16cm and 10 cm . AB is adiameter of the bigger circle
touching it at D . . Find the length of AD . Length of AD =+/456 = 2y/114cm

Q.33 |Find the area of the shaded region. . ans: Area of the design =

D, =5cm; A =25?”; D, =4cm; A, =27 & D, =3cm; A, =%” . A(AABC) = 6unit?

Aom

A( 9 or o) 257 _886 550 .
8 8 56 56

Q.34 | An aero plane at an altitude of 1200 meters finds that two ships are sailing towards it in the same
direction. The angles of depression of the ships as observed from the aero plane are 60° and 30°
respectively. Find the distance between the two ships. Distance between two ships
=800+/3 =1385.6m

khkkkhkkhkkhkhkkkkikkhkk*k hhkkkkkhkkhkkhhkhhkkhkkhkkkkx*k
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